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,C3H4(g) T 2H,g — CsHg . Ponnn v AH nxoawn
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1
Mo 5% = O AH =-2855KJ
CsHyg) 40,4 — 3COyq, +2H,0, AH =-1937KJ
CsHgg) +50, — 3COyq, +4H 0, AH = -2219.1KJ
JNND

CsHug) +2H g — CiHygg,

1
Maw 5% = MO AH =-2855K]
CsHyg) + 40, — 3C04q +2H,0, AH =-1937KJ
CsHgg) + 50,4, — 3CO,,, +4H,0, AH =-2219.1KJ

NINNN 7Y XAN 9NN DX DNRY W

o (Hz(g) +%oz(g) . Hzomj — AH = 2* (- 285,5KJ) = -571.0KJ

C3H4(g) +402(g) - 3C02(g) + 2H ZO(I) = AH = _1937KJ
CyHgg) #5051, « 3CO,, +4H,0,, = AH =—(-2219.1KJ) = 2219.1

N"O7NIX NX 12N7 W' D W1 NYRIANN NAIANN DX 7272 NIAIANN 72 NX 12NwD

NRnnN v
2H gy + Oy + C3H () +405g) +3C0O,q, +4H,0,, ~
— 2H,0, +3C0,, +2H,0) + C3Hgg) + 30,
C3H4(g) +2H2(g) N C3H8(g)

AH =-571.0KJ —1937KJ +2219.1KJ = —-288.9KJ



